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THIRD SPACE
LEARNING

1. 502 - 67 =

Number and Place Value

Arithmetic Warm Up

Use the space under each
question to show your

mc U.—.ﬂm 0.:0 n working out.
6 2
3, — - — =
7 I
- 500 = 35 500 4, 113 -999 =

One-to-one online Maths interventions:
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LV Revision — multiplying by 10, 100 and
T LEARNING - 1000

Look at this place value chart — what can you tell me about place value?

1. Write 213 in the chart.

2.  Multiply this number by 10 — what happens to the digits?

3. What happens if you multiply 213 by 1007

4. 213 x 1000 =

Number and Place Value One-to-one online Maths interventions:
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THIRD e Question 1

N
w\\mf Complete

What do you . What do you £
notice? Look at this number. know? -

23,451.96

Writa the digit that is in the hundrads place.

\ Can you T How could 0
show your you exfend
waorking out? the question?

Write the digit that is in the hundredths place.

Number and Place Value One-to-one online Maths interventions:
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0 Revision: Rounding to the nearest 10

T'LEARNING
What is meant by nearest 107 Round this number to the nearest 10

8 4 7

.& What would be the multiples of 10 either side of this number? Write them

in on the number line.

W\\\H Write down the number that would be in the middle of your number line.

Where would 847 fit on your number line? Which multiple of 10 is it
nearer to?

v\\N So, 847 rounded to the nearest 10 is

Number and Place Value One-to-one online Maths interventions:
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LA Revision: Rounding to the nearest 1 000 °
THIRD SPACE and 10 O0O0

1. Round this number to the nearest 1000

75 401

w\.\\w Think of the multiples of 1000 either side of this number.

What number would go in the middle?

N
4 So, 75 401 rounded to the nearest 1000 is

2. Round 75 401 to the nearest 10 O0O.

Number and Place Vaolue

One-to-one online Maths interventions:
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THIRD SPAcE Question 4

g
4 Complete

What do you Olly thinks of a number and rounds it as shown in the table What do you/™"
notice? below know? -

To the nearest | To the nearest To the nearest
1 000 100 10

Olly's number 4 000 3 800 3 830

What is the smallest and the largest number that Olly could

have used?
Can you a) Smallest number How could ©
show your you extend
working out? the question?

b) Largest number

Number and Place Value One-to-one online Maths interventions:
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\ = Revision: Negative numbers o qotonetich )
THIRD SPACE would 5.<o_<m \\
HEARNING :scmquﬂ,«\mmﬂ |

J=ZF
B e T
-0-9-8-7T-6-5-4-3-2-1 0123 45 6 78 9210
4 Increase -7 by 5 d -5+8-=
7 Increase -3 by 9 7 -4 -7 =
4 Decrease 2 by 7 7 3-16=

Number and Place Value One-to-one online Maths interventions:
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e 4 Question 5

N
TLEARNING # Complete
What do you This graph shows the temperature in six cities on one day in January. What do vé:.ﬂr:...ﬂu
notice? know? %
f

10 —
m S S . e -
m ————— —
4 —
M -

._.m:..wumoqvmﬁcqo o _ _

) l\_|.— -

44 | —

-6 4 — - L ———

-8 —

—10

Kiev Berlin Rome Oslo Paris Madrid

How could
\ Can you Cities you E:,m:n_o

show your
warking out? the questlon?

Which city was 4 degrees warmer than Kiev?

What was the difference between the temperature in Oslo
and the temperature in Berlin?

‘c

Number and Place Value One-to-one online Maths interventions:
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